BF100m(3#54/ LL—R)

(E +0.2m)
MR X
PR A
BT B
AT i@
6904 FxF ER
KH BEA
7110 & EBA
|

(E-0.9m)

7046

E mE
FHE K
#x R
#LE KB
EIL FER

PO0OeOPOR VOO0,

(% % 3)
GRILE 1)
(E £ 1)
(£ £ 2)
(% 1 3)
G2 1)
(A 3)
GRuE 2)

(B E 1)
GzliE 1)
GEllEE2,
(B E 1)
(#* % 3)

BF200m (2824 LL—R)

(E +0.2m)
& BA
NI RN
BT #EiE
RE =
J\BE #X
¥F B
AE B
WE B8

©OPOCOMOL

(B5fEE 35
GRIR 2)
(& # 2)
(£ W 3
G2l 2)
(E £ 1N
(£ W 3
GRIUE 3,

BF400m (28854 LL—R)

14

@ 6660 &L WA GELE 3
@ 7110 & EA (BEE 3
@ 6592 AF Bme  (GE L 3)
@ 9005 Lo EiE (GRLUSES,
® 9036 FEE 7l GELIBEE,
® 6586 =hR BAE (GE WL 1)
@ 6796 A #M_E8 GEILE 3)
9003 MK E&E (CRLUEHE2
BF800m (2#24 LL—R)

@ 7236 XL wth (B L 2)
@ 6903 ;IO —# (E % 2)
@ 6831 A A GELUE 2)
@ 6910 AR [EHE (E £ 2)
® 6840 LFUOMD  GELE 1)
® 6830 #HAKk Hz (GEWLUE 2)
@ 6660 &L WA  GELE 3)
7044 FEH E M B 2)
BF1500miR B

® 7139 B HE &E E 1)
@ 9028 LB R (CRILUFE1
® 6572 K# EA  (GE W 3)
@ 6801 thmA B GEILE 3)
® 6570 &3 & (G L 2)
® 6584 Z# A (G 4 3)
@ 6910 LR B (£ & 2)
6830 #AK HZz CGRIUE 2)
BF5000miR B

@ 6825 HO ## GERILE 2)
@ 6802 &8 Bt (GEIE 3)
® 6826 BE[R sk CEIIE 2)
@ 6919 Rk JEE (X % 2)
% 6570 £HF B CE L 2)

#IE

D NWN = N

#IE

o= wN

HIE
7

0o U = WwWN

8 F+ 0o &

B2
12719

11782

11765

11708

11722

11749
11797
11786

FCER
13777

13790

FCEX
55700

54782

ROEX
02'16"07

02'15"26

02'13"07

02'10”01

DNS

02'13”05
02'13"20
0217”04

L8R
DNS

1628”18
1705724

19'36”65

16'38766

wEIR
9

DNWN = O

Loy
16
17

e
L

~o o —=wnN olp
&=

o

REE

10

00 O—= WO

N

wEIE

-~

3
5
8

REE

12

AN A W=

REE

NS W=

00000 Qo

o

o]

00000

Qo

200 20000

000000 Qo

Qo

2000

©900®OPOR

©900®OPOR ©O00®POR

CRRIGISIEITC)

SIEEE]E)

6831
9034
7236
7044
6919

(E+0.3m)
REHE—ER
L2 RCES
Eig HE
#F B

=REEZN
BIR K¥
=i &

1itH kE

GEILER 2)
GRILEE1)
(A 3)
(B W 2)
B W 3
(BBMEE 1)
G ot 1
GRILBES3)

(B +1.6m)

A Rt (K FH 3)
EfE BE (ELEE2)
=M BEzZAGE L 2)
BH AKX K FH 2)
SRE ME—B GRILE 1)
FOER OB L 2)
&t & (ZLSHE2)
KHE BEA GE WL 2)

TW EZz# (ZLUT 3)
EEHR  (GRIE 1)
EAFGE WL 1)
4 (GRWT 3)
m|A (k2 F 2)
MK B F 2)

&HH
HH

B

18K
HH

T

BN (% B 3)
WE (GRELUT 3)
BEBE OGE oW
E2z# GELT 3)

GEILER 2)
(RlLEE2)
B W 2)
% % 2)
(£ £ 2)

AR
B
=i
FEH
B

#HIE
4

[ e

#AIE

—WhOONOO OO

#IE

S =DNw

#IE
10
7
8

9

ECER
12746
DNS
12733

DNS

el
13

FOEX

02'23"16

02'11738

ECEX
04'57"33

DNS

11798
12744

13715
12780

3

ﬁ:l‘a‘l:l

P

13

8
1
12

15
14

IE

HBalE

02'22”45

02'26”63

04'45”57
04'51”55

04'54"48

q



BF 24— J)LFFEH

BFEE g EE S B q
® 7113 IR K (EBEE 1) 6 5m24 -0.1
@ 6924 TIL #=E (E M 2) 7 5m05 -1.6
@ 9033 EH #E (ElLEH2) 4 5m59 00 q
@ 6559 /MR BRE  (GE WL 3) 5 5m50 -03 q
® 6589 kB EA GE WL 2) 2 5m63 -03 q
® 6841 {F® Bk (GEWLUE 1) 3 5m61 00 q
@ 6593 hE KB GE W 2) 1 6m27 -01 q
BFais [E} Eikd

@ 6898 KIE HF3¥F (= £ 1) 3 8m76 q
@ 7043 LR K& (H %H 1) 8 7m64

@ 6661 §/ #Hth CGELUE 3) 7 7m83

@ 6665 #%E E1E (GELE 2) 2 8m89 q
® 6913 AH BE (£ #£ 2) 4 8m75 q
® 6663 ftg8 B (GELUE 2) 5 8m61 q
@ 7111 FHiE M|IE BEE 3) 6 8m56 q
6916 KU 3} (€ £ 1) 1 10m98 q
BrAEgE IE 8k

@ 9001 [AIE 15E CGELUFHI) 4 21m66 q
@ 7111 FHiE ME EEEA 3) 7 16m59

@ 6900 ]H KfF (£ 4% 2) 3 23m21 q
@ 9035 EL 15 CELUSH2) 2 23m78 q
® 6916 KL ¥ (£ £ 1) 1 25m17 q
® 6661 5/ #Hth GELUBE 3) 6 18m20 q
@ 6913 HH B® (£ % 2) 5 20m42 q
BFOYE [ s8R

@ 6924 FIL #w=E (E £ 2) 7 28m81

@ 6661 5/ L (GELUE 3) 4 39m15 q
@ 9001 [EIF 1552 (GELUEHES3) 6 37m04 q
@ 6577 @ IwE (GE WL 2) 3 43m25 q
® 6665 #%E E£1F (ELE 2) 2 45m07 q
® 6806 £ FEAk CGEIUE 3) 5 37m46 q
@ 6900 ]H KfF (£ 4% 2) 1 47m86 q



ZF100m (221 LL—R)

148
6925
7243

(f&-1.8m)
R #@#E
o FE
o BEx
=5 M
FHAR KE
WE KF
INE BEEE
wA EB

CREEISIECC)

(X # 2)
(B W 2)
(ELE 3)
(£ W 3
(GELE  2)
(B W 3)
GEILE 1)
(B 2)

KF200m (245414 LL—R)

14
6659
6667
9037

(. +3.1m)
(ITmpsy:E=3
FBAR KFH
Rt BX
=iE M3
BR &8
ML T
Bl &=
&FHE B

CRRGISIEITC)
8

GEIlE 3)
GRlE 2)
GELEE)
(& Wb 2)
(£ 1 3)
GElE 3)
G W 3)
(% % 3)

ZF400m (221 LL—R)

148

R BX
EREBER
U FF
SH BF
B e

CREEISIESC)

ZF800m

14

WA it
ATE EF
A
LR ®Bx
IR MR
Rl e
NEFE B
WE BES

CRCIGISIEITC)

%
X
a
o
<)
3

INE HER
A BAE
R ST
EH B
AiE &5
6835 % BEF
NP #EK
IWE MBS

CRRGISIEITC)

%
+H
B
‘Hol
z
%
%

&
#FH
B
6833 IE®

il RE
IR BRE
XH

CREEISIECC)
o
>

GRIIEET)
(® £ 3
(GELUE  3)
(B W 3
(2B 2)

B W 2
GEILER 2)
GEILE 1)
GEILE 3)
G o1
Gl 2)
B W 3)
(B W 2)

H#AIE

~Noo AN —=O O

#RIE

~

AN B =W

#AIE

Bw=MNMNO

#RIE

T W=NOA

#RIE

0B TWN =

[=2]

A=W

FRER

01'06"27

01'03"87

01'03”86
01'05”30
01'05”62

Rk

04'57"28

05'09”97

0521744

05'44”77

05'35"20
06'02'00

DNS

05'44”98

28
DNS

3m50

3m77
4m44
4m73
4m96
4m43
NM

&

~Ng AN =0 awlh

E ES
2 &2
ahr=aNO op AN D =W oo O
&= &

© o s =N oIy
&=

o s cwn =~ O
=

[=2]

0.0
-0.9
-0.9
-0.2

+0.6
+1.0

Q000000

Qo 00000

00000

o

2000

200000 0

2000490

©OeO®OMOR

6541
7245
7244
7248

©000e6cCR

©OeOEOMOR

6588
6650

©000eecCR

©
~
N
N
=3

(&-0.2m)

ma
XH
Ak
RIT

£l
EX)
Fait
Fiax

(B +2.7m)

A Bx
REHLF
k| £S5
[ic):: ESTE-

EE<DH
Bl RE
HHE EBx

BEHEUT

MK BEE

B+ BRE

EHEUVE

WA fFi

(RIE
(2 W
(RIE
(2 W

%
EEEE

(2 W
(mE

(B 1

2)
1)

2)

#AIE

#AIE

BN =W

#RIE

#RIE

BBz

DNS

14740

14761

FOEX

31756

30791

29”37
DNS

BBz

01'14”26

01'04"76

01'07"29
01'16”39
0117”63

FOEX

02'33"18

03'11”08

FOEX

05'565"74

wa

wak

walk

7



R B R & - E 5 F
miEsd  FosHElESEFRREARBTRRELFREAREFHEFER SFIESA3AE) LRI BE RS
8 16z 2{u 3 44 5fL 6%z 71 81
100m BT @EiE 2 11708 | #F%x |x 3 1122 | KHE BA 1 11749 | Ffr FI 1 11765 |FE BUAK 1 11”82 | M B 2 11786 | & BEA 3 11797 [FHkF MME 3 11798
E1E +02 E1E +0.2 b=} +02 E1E +0.2 EINE +02 I +0.2 s +0.2 R E +0.3
200m REOEHL 3 22731 |/ (RA 2 22735 | BT MASE 2 22736 | KE BEA 1 22785 [J\MB MK 2 23702 | 3E B 1 23714 [ KRE BAmM 3 23765 |1 MK 2 23788
p=1l] +0.2 LR +0.2 E33 +0.2 b=l +1.6 EILE +0.2 E1E +0.2 b=l +0.2 W +1.6
400m o E#E 3 51742 [@H MK 2 52781 | KE Bm 3 53709 | ERR RAE 1 53752 | ®E . 1 53789 |HH &k 3 53794 | FHL WA 2 54705 [lE WZER 3 54723
BUEE HE 2l b1} 2ILEE LT E( EILE
800m EEx ME#E 2 0210701 WA EFE 1 0211738 #K &z 2 02'13705| FNE AAME 2 0213707 #21L A 3 0213720 IH —#E 2 02115726( KL |th 2 0216707 FH E 2 0217704
E1E b=l EIIR LR Il E1E B L ®E
1500m A+ BEAN 3 0417777| BH A 3 0422787 i B 3 0426741 &£H MKEE 2 0427707 ER M 2 0427711 #8K HZz 2 0427°36| [RE HF 2 0445757 KWL FEth 2 0451755
p=1l] b=l EIIR b=l E33 LR ElEE R 1L
5000m B85 Eth 3 1628718 £ &[5 2 16'38766| BE[R FOAk 2 1705724 Rk WAk 2 19'36765
LK b=l EINR E1E
EfEH | RS FABI 2 6m27 [{&fB EA 2 5m63 |[fRE BK 1 5m61 |[MH #HE 2 5mb9 |/ FE 3  5m50 |HIF KH 1 5m24 | FWU #EF 2 5m05
p=1l] -0.1 b=l -03 EINE +0 =TI +0 b=l -03 R E 0.1 E1E -16
fani® | Kb #3010 10m98 [4kE EIE 2 8m89 |KIE HFI 1 8m76 [FHHE FEHE 2 8m75 | KHE E 2 8m6l [FF ME 3 8m56 |SF Rt 3 Tm83 [EER K& 1 Tmé4
E3(3 L E3(3 E3(3 2L R E Il HE
PYR | RF KT 2 4Tm86 | HEFF EI1E 2 45m07 | FERE WE 2 43m25 |SFH $HtL 3 39mi5 | {ET BEEE 3 37m46 |[EIF TAE 3 37m04 | WU #EF 2 28m8i
E1E AN b= IR EIIR =ATIPS E33
FA#gsE | R #2310 26m17 | A M 2 23m78 | }RHF K 2 23m21 |[EF TFE 3 21m66 | AE BEE 2 20m42 |SFH HE 3 18m20 [ AHE HIE 3 16mb9
E3(3 BELEE E3(3 BEUEE E3(3 I R E
w5 Kk 5A3H 10:00 Hh 24. 0°C 50.1% FERIFE0. 8m/s T EILESARERE ERRE
MuOEHR  EKiEZ 5A3H 11:00 Hh 25.0°C 435% ®0. 3m/s ELEHEZER
BEEEHER FHh= 5A3H 12:00 #h 25.0°C 354% FERIE2. Om/s R LR E RS
REEH R IR 5A3H 13:00 Wh 26.8°C 230% FEME1. 7m/s
RREE KEpHY




R OB REHE— B R x F
miEsf  FosERLESEFRAREREASELHRASEEHMRFER SHM1ESA3HR) LRI BE RS
=] 1fL 2{u 3 44 5{L 6%z 71u 81
100m | =% #WE 2 13722 |FHBWA ®F 2 13765 [ FA #HE 2 13778 [#E K 3 13784 |H# FE 2 13786 (O FEZEZE 3 14701 |3k BE 3 14714 | KA £F 1 14740
b=l -18 I -1.8 E33 -18 1L -1.8 B L -18 I -1.8 EILE -18 b=l -0.2
200m | B[R 1&KIE 3 26766 |l ENE 3 27707 | S48 WZE 2 27734 |BIL FS 3 27792 [ #HE BE 3 28747 | 4@ #£% 2 29737 [R;xT BX 1 29754 |um BEZ 3 30713
E33 +3.1 b=l +3.1 b=l +3.1 I +3.1 HE +3.1 1L +2.7 ElEE +3.1 I +3.1
400m | B¥L F= 3 0103786(#k<sp ZH 3 0103787 dhJIl BLE 2 0104"76| & EH 3 0105730 &)l BRE 2 0105762| Rt BX 1 0106727| %M BE 3 0107729|HEE <5H 1 0114726
2 E3(3 E3 (3 Al 2 BUEE HE bt |
800m |[/NE MEE 1 0223"14| LR #E= 3 0231754[ 58t BIE 2 0233718 EJIl EBREE 2 02:38708( BTE =T 2 0238"32|/NEFE #X 3 0241728 M B 1 0242764 A Rt 2 0250764
b1 IR b1 I ZILE Rl EILE fgil
1500m |/NE MEE 1 0457728 #EFT BAE 2 0509797| F%M ST 2 0521744| HiH HFF 2 0535720 EEH EifE 3 0544777 1LE MEL 2 0544798| K (Rt 2 0555774 # EHF 2 0602700
b1 b1} IR EILE (3 Bl il EILE
FEEHE (D) BE 2 4m96 | FHAR X 2 4m7i3 |EE KTE 2 4mdd | KR BEE 1 4md3 | RER B3 1 3m77 |#83 =AM 1 3mS50
E1E +06 E1E -02 p=1TES -0.9 LR +1.0 EILE -0.9 I 00
w5 HKisz 5A3H 10:00 BHh 24. 0°C 50.1% FERIFE0. 8m/s T FEILESARERE EFRE
FMYIBHIR BKEZ 5A3H 11:00 #h 25.0°C 435% ®0. 3m/s BILRHEEES
BEEEHIR FEILZ 5A3H 12:00 #h 25.0°C 354% FERIE2. Om/s RELLBE R e
REEHER HLUERE 5A3H 13:00 Hh 26.8°C 230% FEME1. 7m/s
ERER KEpmY




